blackaudiodevices.com

wings

Description Included Package

Notice

The wings getting attached to the "golf tees", as Sound Devices 3 x Pan head #4 40-UNCx5/8in Bo
calls them, fastened with only 2 supplied screws. 3 x Pan head M3x12mm

The base, availabale in 3 different lengths (144mm, 216mm, 288mm), 3 x Pan head M3x30mm

gets assembled on one of the 2 levels (18mm spacing) with the wings. 6 x Pan head M4x6mm

Now you got a base for the different mounting systems like 4 x Washer 7x3,2x0,5mm
slotcam, slotmulti, cheesebar72. 6 x Washer 9x4,3x0,8mm

All required screws for the different models are included 1 x Allen Hex 45x15x1/16in Bo

1 x Allen Hex 52x18x2mm

SD 4, 5, 6, 7 Serie, Black oxide, Inch
SD 8 Serie, Scorpio

SD MixPre

Assembly wing - base

Washer screw A

Spacing reduction mixer - wing

SD 4,5,6,7 Serie, Black oxide, Inch
SD 8 Serie, MixPre, Scorpio

and Tilta like a "Cold-Shoe-Mount" and "Nato Rail" on it.
For this purpose, M4 Pan head screws in different lengths
with washers and/or flange. are included.

G

H

4 x Pan head M4x10mm
8 x Washer 9x4,3x0,8mm
1 x Allen Hex 112x10,5x2,5mm

base
Description Included Package Notice
The base got M4 threads with a 9mm spacing. | E | 4 x Pan head flange M4x6mm Assembly multi components
This allows to mount components of SmallRig, Wooden Camera | F | 4 x Pan head M4x8mm Assembly multi components

Assembly multi components
Washer screw F, G
Allen Hex short-long leg 2,5mm

slotcam (2x M3x25 + Spring allready assembled)

Description Included Package

Notice

F | 3 x Pan head M4x8mm
H | 2 x Cylinder head M3x25mm

The slotcam is a mount for all wireless microphone receivers
with a format, suitable for camera slots.

Assembly slotcam - base
Adjusting slotcam 17,5-25mm

It is also possible to build several slotcams behind each other. 2 x Spring 20x4,9mmm

Steel Spring

slotmulti (2x M3x25 + Spring allready ass

embled)

Description Included Package

Notice

5 x Pan head M4x8mm

2 x Cylinder head M3x25mm
2 x Cylinder head M3x30mm
2 x Cylinder head M3x35mm
2 x Cylinder head M3x40mm
[T 2 x Spring 20x4,9mm

The slotmulti is suitable for larger and wider components.

For a free adjustment in width and length,

M3 screws in different lengths are included.

With the longest screws (M3x40mm), it's possible to mount severel
components up to a 37mm width, with the shortest screws (M3x25mm)
also microphone receiver for camera slots will fit.

| F
| H |
| H |
| H |
H

Assembly slotmulti - base
Adjusting slotmulti 17,5-22mm
Adjusting slotmulti 22,5-27mm
Adjusting slotmulti 27,5-32mm
Adjusting slotmulti 32,5-37mm
Steel Spring

cheesebar72

Description Included Package

Notice

J | 3 x Countersunk M4x22mm
F | 3 x Pan head M4x8mm

The cheesebar72 is suitable for %4 inch and M4 screws and mountings.
It'possible to mount the cheesebar72 in different positions at the base

Assembly cheesebar72 - base
Assembly multi components

and attach severel components vertically or horizontally at it. 4 x Washer 9x4,3x0,8mm

Washer screw F

wings + base |level1 (mm) | level 2 (mm) Sound Devices hole space / screw size
min. | max. [ min. | max. [ Mix3 | Mix6 | 722 744 |Mix10| 833 633 888 788 442 552 664 688 |Scorp
space hole (mm) 133 155 184 184 195 208 210 243 | 2445 245 | 2635|3095 (3095 | 311
screw A M3x30 [M3x30 | #4-40 | #4-40 [M3x30 |M3x12 | #4-40 [M3x12 | #4-40 | #4-40 | #4-40 | #4-40 | #4-40 |M3x12
basel44level | 133 | 186 | 133 | 206 | 1+2 | 1+2 [ 1+2 | 1+2 2 X X X X X X X X X
base216 level 133 | 258 (133 | 278 | 1+2 | 1+2 | 1+2 | 1+2 [1+2 |1+2 |1+2 | 1+2 | 1+2 | 1+2 2 X X X
base288 level 133 | 330 [ 133 | 350 |1+2 [1+2 | 1+2 | 1+2 [1+2 |1+2 |1+2 | 1+2 | 1+2 | 1+2|1+2 [1+2]|1+2 | 1+2

wings min. level 2 133 mm

wings + base216
back

level 1

\

® @ & 0 00 0 0 0 0

wings + base216 + slotcam
front

ooooooo@o@ooooo

slotcam 83mm base 216mm




	Blatt1

